
 
 
 
Ques.1 Colour the ¼ of following picture. 
 1/4 ³ÖÖ�Ö ´Öë ¸Óü�Ö ³Ö¸üÖê | 
 
 
 
 
 
 
 
 
 
 
 
Ques.2 Draw a line to show ½. 
 1/2 ³ÖÖ�Ö ×¤ü�ÖÖ−Öê � êú ×»Ö‹ ¸êü�ÖÖ �Öß×“Ö‹:- 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
Ques.3 Which of the following figure shows four equal parts. 
 
 ×−Ö−´Ö×»Ö×�ÖŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ “ÖÖ¸ü ²Ö¸üÖ²Ö¸ü ³ÖÖ�ÖÖë �úÖê ¤ü¿ÖÖÔŸÖÖ Æîü | 
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A    B      C 
 
Ques.4 Match the following figures: 
 ×´Ö»ÖÖ−Ö �ú¸üÖê 
 
 (A)    3/4      A 
      
             
 
B)          1/4      B   
               

   
C)  1/2       C  
   
 
 
 
D)  4/4      D  
        
 
Ques.5 Shade the ¼ of the given figure. 
 ×¤ü‹ �Ö‹ ×“Ö¡Ö � êú 1/4 ³ÖÖ�Ö ´Öë ¸Óü�Ö ³Ö¸üÖê | 
 
 
 
 
 
 
 
 



 
Ques.6) 250 g + 250 g + 150 g + ________ = 1000 g. 
 250 �ÖÏÖ´Ö + 250 �ÖÏÖ´Ö + 150 �ÖÏÖ´Ö + _____ = 1000�ÖÏÖ´Ö 
 
Ques.7 The collection is divided into 4 equal parts. Encircled portion 

represents. 
 ×−Ö´−Ö×»Ö×�ÖŸÖ ÃÖ´ÖæÆü “ÖÖ¸ü ²Ö¸üÖ²Ö¸ü ³ÖÖ�ÖÖë ´Öê ×¾Ö³ÖÖ×•ÖŸÖ Æîü ×“ÖÛ−¤üŸÖ ³ÖÖ�Ö �úÖê ¤ü¿ÖÖÔμÖê | 
 
 
 
 
 
 
 
 
 
 
 
A)        1    B)      3   C)    1 
     
           3   4    2 
 
Ques.8 Fill in the blanks:- 
 �ÖÖ»Öß Ã£ÖÖ−Ö ³Ö¸üÖê | 

a) 1 kg = ________g. 
1 ×�ú�ÖÏÖ0 = _____ �ÖÏÖ´Ö 

b) 1 m = ________ cm. 
1 ´Öß™ü¸ü = _____ �ÖÏÖ´Ö 

c) 1 liter = ________ ml. 
1 »Öß™ü¸ü = _____ ×´Ö»Öß0 

 
 
Ques.9 There are 20 blocks. ¾ are green. How many are not green? 
 20 ×›ü²²ÖÖë ´Öê 3/4 Æü¸êü ×›ü²²Öê Æîü |×�úŸÖ−Öê ×›ü²²Öê Æü¸êü −ÖÆüß Æîü ? 
 
Ques.10 Three fourth of the match was over when I switched on TV. What 

part of the match is left? 



•Ö²Ö ´Öï−Öê ™üß0¾Öß0 »Ö�ÖÖμÖÖ ŸÖÖê 3/4  ´Öî“Ö �ÖŸ´Ö ÆüÖê “Öã�úÖ £ÖÖ | ´Öî“Ö �úÖ ×�úŸÖ−ÖÖ ³ÖÖ�Ö ¸üÆü �ÖμÖÖ 
£ÖÖ ? 

 
Ques.11 From 12 boys in a school, ½ went for swimming. How many 

children are left in the class? 
12 ”ûÖ¡ÖÖê �úß �ú�ÖÖ ´Öë 1/2  ”ûÖ¡Ö ŸÖî¸üÖ�úß � êú ×»Ö‹ “Ö»Öê �ÖμÖê | ×�úŸÖ−Öê ”ûÖ¡Ö �ú�ÖÖ ´Öë ¿ÖêÂÖ ¸üÆü 
�ÖμÖê ? 
 

Ques.12 Complete the diagram… 
          ×“Ö¡Ö ¯Öã¸üÖ �ú¸üÖê | 
 
 
 
 
 
 
 
 
 
 
Ques.13 One can hold 500 ml of water. How many cans can be required to 

hold 2 liter of water. 
 ‹�ú ²ÖÖ»™üß ´Öë 500 ×´Ö»Öß ¯ÖÖ−Öß †ÖŸÖÖ Æîü | 2 »Öß™ü¸ü ¯ÖÖ−Öß ‹êÃÖß ×�úŸÖ−Öß ²ÖÖÛ»™üμÖÖë ´Öë †Ö‹�ÖÖ ? 
 
 
 
Ques.14 Balance the weight with the help of following. 
 ×−Ö´−Ö×»Ö×�ÖŸÖ � êú ÃÖÆüÖμÖŸÖÖ ÃÖê ¾Ö•Ö−Ö �úÖê ²Ö¸üÖ²Ö¸ü �ú¸ëü | 
 
 
 
 1 kg  2 kg    500 g  5 kg 
 
 
 
 
 
 
 



 
 
Ques.15 Complete the following:- 
 ×−Ö´−Ö×»Ö×�ÖŸÖ Ã£ÖÖ−ÖÖë �úÖê ³Ö ȩ̈ü 
 

a) 250 ml + 250 ml + __________ = 1 liter. 
250 ×´Ö»Öß + 250 ×´Ö»Öß + _______  = 1 »Öß™ü¸ü | 

b) 500 ml + ______ + _________= 1 liter. 
500 + _______ + _______ = 1 »Öß™ü¸ü | 

c) 250 ml + 250 ml +_________ + 250 ml = 1 liter. 
250 ×´Ö»Öß + 250 ×´Ö»Öß + _______ 250 ×´Ö»Öß = 1 »Öß™ü¸ü |



ANSWERS 
Ans.1 Students will do themselves. 
 ”ûÖ¡Ö Ã¾ÖμÖ �ú ȩ̈ü�Öê | 
Ans.2 Do your self. 
 ”ûÖ¡Ö Ã¾ÖμÖ �ú ȩ̈ü�Öê | 
Ans.3 Figure C 
 ×“Ö¡Ö-ÃÖ  
Ans.4 A – C,  B – A,  C – D, D – B. 
 1 (ÃÖ) 2 (†) 3 (¤ü) 4 (²Ö) 
Ans.5 Do your self. 

”ûÖ¡Ö Ã¾ÖμÖ �ú ȩ̈ü�Öê | 
Ans.6 350 g. 
 350 �ÖÏÖ´Ö 
Ans.7 ¼ (A). 
 1/4 (†) 
Ans.8 1000, 100, 1000. 
 1000, 100, 1000 
Ans.9 ¼ are not green. 

1/4 ³ÖÖ�Ö 
Ans.10 ¼  
 1/4  
Ans.11 ½ , 6 boys. 
  1/2 , 6 »Ö›ü� êú 
Ans.12 Do your self. 
 ”ûÖ¡Ö Ã¾ÖμÖ �ú ȩ̈ü�Öê | 
Ans.13 4 cans 
 4 ²ÖÖ»™üß 
Ans.14 2 kg + 1 kg. 

2 ×�ú�ÖÏÖ0, + 1 ×�ú�ÖÏÖ0 
Ans.15  

a) 500 ml.  
 500 ×´Ö»Öß0 

b) 250 ml, 250ml. 
 250 ×´Ö»Öß0 250 ×´Ö»Öß0 

c) 250 ml.  
d) 250 ×´Ö»Öß0 

 


